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Q1

Q2

GENERAL AWARENESS

The Council of States consists of 250 Q1

members, of which members
are nominated by the President on
the basis of their excellence in
literature, science, art and social
service.
(A) 10
(B) 11
C 12

(D) 21

Which of the following Articles
provides that every High Court shall
have power throughout the territories
in relation to which it exercises
jurisdiction to issue writs for
enforcement of the Fundamental

Rights or for any other purpose?
(A) Article 226
(B) Article 227
(C) Article 228

(D) Article 229

Q2

It &t ufgre <9 250 Heg de I,
frgt fed  Hedt § Imequst
g /a3, fefarl™s, I&1 w3 AHH
A< &9 Bl <t 831z € wiug 3

HEBI3 AT HieT J|

(A) 10
(B) 11
©C) 12
(D) 21

Jat fefamt 9 fagzr »isee Yo
fg  T9@ €9
WMTS3 § Byt Afan ¥3dt i<y #ast
Y3 Jedit gt © ey fieg Ba Higa
et fde Ardt 996 & MiudTg ¥3d ©f
EGEE G

(A) MEe< 226

(B) adex 227

(C) n@ex 228

(D) &ex 229

I J
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Q3

Q4

The 10" Schedule of the Constitution

of India lays down:

(A) validation of certain Acts and
Regulations

(B) provisions as to
disqualification on the ground
of defection

(C) powers, authority and
responsibilities of Panchayats

(D) powers, authority and
responsibilities of

municipalities, etc.

Which of the following Articles of
the Constitution of India provides
that there shall be a Council of
Ministers with the Prime Minister as
its head to aid and advise the
President, who shall exercise his/her
functions in accordance with such
advice?

(A) Article 74 (1)

(B) Article 73 (1)

(C) Article71 (1)

(D) Article72 (1)

Q3

Q4

gg3 ¥ Hieus © 10<1 »iEgdl

RERUCELCTIR]

(A) IY AUfeTH w3 Frhat
YHTTES3T

(B) TIB-TH MUY 3 MUISTT
33 3 feeHg=t

(C) Yarfest St HIShl, wifgerg

(D) &IdUfEarel dhf "3,

g3 © AfeUs 1 Jat fafani fed

fqgzt wigee &g Yrs 99 J 4

YU's Hadt ® a8 g H3dt ufgme
Jedft 7 f3 IHequst & Aafes w3
B T4t w2 Q9 wifadt A8
WEHS Tt U@ IH F3I/Idft?
(A) MEEE 74 (1)

(B) MagE 73 (1)

(C) MasE 71 (1)

(D) M&EE 72 (1)
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Q5

Q6

The Constitution (73 Amendment) Q5

Act, 1992 had added a new part IX
consisting of 16 Articles and the
Schedule to the

Constitution.

(A)  Fifth
(B) Sixth
(C) Eighth

(D) Eleventh

The first meeting of the Constituent Q6

Assembly was presided over by Dr.
Sachidanand Sinha. Who among the
following was later elected the
President of Constituent Assembly?
(A) Jawaharlal Nehru

(B) Dr. BR Ambedkar

(C) Dr. Rajendra Prasad

(D) Mahatma Gandhi

Afeurs (73<t AU) wfufewH,1992 3
Hleus &9 16 MEad W3

WMEFA &1 {8 &< I1d1 IX THS
EiEg:l
A) A
(B) ®
©c) s

(D) faporat

Aferss AT ©f Ufg®t Sad

YUTSdit 3T AT fHET ©TdT SISt
Jret H st fefamt &9 farg ame

f3g HiCUTsd AT 2T YUTE g fapa
Hi?

[a)

(A) T<JId BT Bidd

(B) I ElnrdniaTdd
(C) Jdfded yA=

(D) HJSHT T
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Q7

Q8

Q9

A combination of two joined beak
flutes- for melody and drone, either
tied together or held together loosely
with the hand, while the player blows
air continuously and simultaneously
is called:

(A) Sarangi

(B) Alghoza

(C) Bugchu

(D) Dilruba

Bhangra is usually performed with
the accompaniment of short songs
called:

(A) Mahia

(B) Gurbani

(C) Boliyan

(D) Sadda

The Green Revolution  was
introduced in Punjab during which
decade?

(A) 1950s

(B) 1960s

(C) 1970s

(D) 1980s

Q7

Q8

Q9

75 3 36 BE 2 Findt St gt
Jeft I91 T AnE, Hi 3t fedfon 13
AH fed Ju B €8 I93e3 J, frn

feg T2q BJI3Td W3 B AHS I

&3¢ J, for A & ot Ffde 957
(A) A

(B) MBI

(C) Ydrgdarg

(D) fesge

I W™ 39 3 &< I3 < 79 HarSt
&1 131 AieT 3, ferg ot faar Afer 2
(A)  Hgr

(B) dJIE

(C) S&M

(D) #HT

Uy 39 gdt g3t fag? v ©a%
et Hi?

(A) 1950 € ¥Jd

(B) 1960 € ¥Jd

(C) 1970 € €

(D) 1980 € ¥
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Q10

Q11

Q12

In which of the judgments did the Q10 HUdMH dd< S farA HHS AUz SAY

Supreme Court declare ‘Triple

Talaq’ as unconstitutional?

(A) Mohd. Ahmed Khan vs. Shah
Bano Begum, AIR 1985 SC
945

Shayara Bano vs. Union of
India, (2017) 9 SCC 1

Daniel Latifi vs. Union of
India, AIR 2001 SC 3958

Bai Tahira Vs. Ali Hussain,
AIR 1979 SC 362

The Protection of Children from
Offences Act, 2012, is
applicable to children:

(A)
(B)
€
(D)

Which of the following political

(B)

(©)

(D)

Sexual

below the age of 18 years
below the age of 19 years
below the age of 20 years

below the age of 21 years

parties was formed as a direct
consequence of the Punjab Land
Alienation Act?

(A)
(B)
(®)
(D)

Anjuman-i-Punjab
Khalsa Dewan Society
National Unionist Party
Shiromani Akali Dal

Q11

Q12

29 35 3w § J9-Afeusa Wi
I3
(A) HIHE »faHe Y& g8™H T

15 99T, AIR 1985 SC 945

Hiedr 98 g™ 993 HY,
(2017) 9 SCC 1

35T B3 g5 393 Hy,
AIR 2001 SC 3958

et Ifgar geH wiEt g,
AIR 1979 SC 362

faHt »rygrat 3 dfet & Jdfter
W<, 2012 ERCAINE
JI
(A)
(B)

(B)

(©)

(D)

18 ATST 3 uie G ¢ dfgnf
19 ATST 3 uie GHa ¢ dfgnf
(C) 20 A 3 e GHa < Sfgnff
(D) 21 AT 3ufe GHa < dfgnft
J& (St fed fagdt Imaii3d urgdt
e ¥3 WEHs Hae © g fHe
<d Je fieg mret Hi

(A)
(B)
©)
(D)

HaHe-g-ddg
YIEH dIeTs gAfed

AHGES amieHe Urgdt

THI MBI T8
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Q13

Q14

Q15

In field tests, which crop was firstto Q13

be genetically modified by
molecular biologists with the U.S.
Department of Agriculture in Urbana
to improve photosynthesis by
streamlining photorespiration and
increased plant growth by over 40
percent?

(A) Tobacco

(B) Cotton

(C) Potato

(D) Tomato

Where was the first State Financial Q14

Corporation opened in India?
(A) Uttar Pradesh

(B) Gujarat

(C) Maharashtra

(D) Punjab

As of 15 August 2022, how many Q15

wetlands were added to Ramsar Site

list to take the total to 75?

(A 11
(B) 12
(C) 13
(D) 14

21%3 orct &g, . © a8 niefed
e fegfrat grar 7rg 3 ufast fqA

SHS & MTEATHd 39 3 ARHIU3 i3

A H BauaT feg i fegral yam

AeHG & HOTd 9 Ufenft € T8 & 40

YIH3 3 <0 U YJTH HHSHS <9
AU JJdTT?

(A) 399
(B) dud
(C) WZ
(D) THd

9193 feg ufgsT g 3t foam foaa
Afgn fapur Hi?

(A) €33 y=H

(B) THI3

(C) HITHIT

(D) UdAtg
15 »dTH3 2022 3d, IHAJ ATele guit

H A 3 9 75 3 fapm
(A) 11
(B) 12
(C) 13
(D) 14
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Q16 Which of the following dances Q16 foHafEgys fed faa3 a™ T HS

Q17

derives its roots from Tamil Nadu?
(A)  Kuchipudi

(B) Bhuta Kata

(C) Bharatanatyam

(D) Mohiniyattam

Match the columns. Q17
Terms of Chola administration

A-  Nattar
B- Kammanacceri
C-  Nagarattars

D-  Palliccanda
Meaning of the terms

1-  Dwelling area of the artisans
2-  Trading community that
belonged to the Nagaram

3-  Tax-free villages

4-  Landholding representatives
of an area called Nadu

(A) A-4,B-3,C-2, D-1

(B) A-4,B-1,C-2,D-3

(C) A-3,B-4,C-2,D-1

(D) A-2,B-3,C-4, D-1

ITHBEZ I?
(A) oy

(B) I

(C) II3&TeHH
(D) Afosw3H

ITBH T HS 931

&% wHu3 H

3- QaAHasfus

4-  BFIEHIYII R B3I IBEa
yf3feu

(A) A-4,B-3C-2 D-1
(B) A-4,B-1,C-2,D-3
(C) A-3,B-4,C-2,D-1
(D) A-2,B-3,C-4,D-1
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Q18 When a President is to be impeached Q18 #< dHcIUst 3 Afeus €t GBwe

Q19

for violation of the Constitution, the

charge shall be preferred by

(A)
(B)
(©)
(D)

The parliament has the power to Q19
form a new State by separation of
territory from any State or by uniting
two or more States or parts of States
or by uniting any territory to a part of
any State under which of the

following  Articles  of  the

Chief Justice of India
Either House of Parliament
Prime Minister

Supreme Court of India

Constitution of India?

(A)
(B)
(©)
(D)

Article 1

Article 2

Article 3

Article 4

oF Banfeny A 9 3 fen °9n
ERCIR] T i3t At I

(A) IJ3 < dig HAfCH
(B) wHAERfIR S ATS
(C) YusH3dl!

(D) I'd3 €t AISET »ETH3

HAT & fan & 9 3 839 § ¥ Jdd
A A ¥ 3 Ty I A I R g% I
Srza i fandam fan Afom g
fan & 939 § A=a 9 aei 9w
18T o Wt J1 fog wast 993 ©
T33P

(A) BTl

(B) BT 2

(C) asT3

(D) »&e< 4
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Q20 The Right to Property was removed Q20 HU3t ® »ifuad § A& 1978 &9

Q21

from the list of Fundamental Rights

by the Amendment Act of the

Constitution in the year 1978.

(A)

(B)

(©)

(D)

The

Amendment) Act, 2002 included
Right to Education in the list of
Fundamental Rights as part of the

Right to Freedom by adding:

(A)
(B)
(©)
(D)

42

4 4th

73

86th

Constitution

Article 16(4A)
Article 21
Article 21A

Article 31A

(Eighty-sixth Q21

Afeus o HO Ol T o

HGg wifgargt <t 5ot 3 get fe3T famr

H

(A)

(B)

(€)

(D)

42%
443
73%

86%

HAleus (fenmr<t Au) mfafewH, 2002

& fHftmr = wifgeng § Hisa wifgenat

ol gt &9, #3393 © mifuard & fJA

T 39 3 THS 13

(A)
(B)
(©)
(D)

MEeT 16(4A)
"MEed 21
"MEed 21A
"Eed 31A
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Q22 What is the official script of Punjab, Q22

Q23

Q24

India?

(A)
(B)
(©)
(D)

Gurmukhi
Shahmukhi
Devanagari

Brahmi

Who imposed national emergency in Q23

India in the year 1975?

(A)
(B)
(©)
(D)

Rajiv Gandhi
Sanjay Gandhi
Maneka Gandhi

Indira Gandhi

Which of these districts in Punjab Q24

has the highest rate of population

growth according to

the 2011

census?

(A)
(B)
(©)
(D)

Mohali
Faridkot
Tarn Taran

Kapurthala

Uy, 3193 T miftfq3 {3t fagdft I
(A)
(B) HIH
(€)

(D) g

S 1975 feg 993 &9 gmcd
MHIHH [TAS Samet H

JrHte gt

HA g1t

NS gt

féegr gt

(A)
(B)
(®
(D)

g w1 fogst fafgr &9 faaar fag
2011 < AAJIEE © MEHT AGHEMT
< &t Gg3H TI TH P

Ha!

gdiede

(A)
(B)
(€)
(D) YJEar

3dA3TdA
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Q25

Q26

Q27

Which of these princely states was a Q25
part of PEPSU (the Patiala and East
Punjab States Union)?

(A) Jath

(B) Makran

(C) Baroda

(D) Jind

Which among the following poems Q26
was written by Pritam Singh Safir?

(A) Garaj Ton Footpath Teek

(B) Anik Bishthar

(C) Kach De Vastar

(D) Na Dhuppe Na Chaanve

The Takht-i-Akbari, where Akbar Q27
was coronated Emperor  of
Hindustan, is located in:

(A) Bhatinda

(B) Kalanaur

(C) Cheema Kalan

(D) Phillaur

fegst i faadt aaera fonms Tug
Ul w3 dine dAe AdTH
YAHE) T fJAT HI?

(A) #H

(B) HITE

(C) w3

(D) e

Js fedmt gfesret &9 faadt UizH
fHw At Trar fst aret #o

(A) J19d 3 gcug St

(B) nifad farA3g

(C) 9T <TH3d

(D) JUWIEER

ELERRICE fegAfE3 9,
fri8 »argg § fJen3® © geng <
S It Hh

(A) gf&3

kol

(B) TBEI

(C) dhasi
(D) fe&a
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Q28 Which of the following is the 2021 Q28

Q29

Q30

winner of the UN Global Climate

Action Award: Climate Neutral

Now?

(A) Meta

(B) Google
(C) Microsoft
(D) Accenture

According to Article 19 of the
Constitution of India, freedom of
and can be

speech expression

restricted on the grounds of:

(A) Dbusiness interest of the nation
(B) security of the state

(C) non-payment of taxes

(D) breach of contract

According to Constitution of India,
to safeguard public property and
abjure violence, is the of

every citizen of India.
(A)
(B)
(®)
(D)

moral duty
ethical duty
fundamental duty

fundamental right

Q29

Q30

J&t fsfini {4 fdagT HYa3 IHed
JREY IBTENE MIHE IS 2021
T fei3T 3: a@Eie feBeas &6 2
(A) W

(B) Jdis

(C) Héqree

(D) MIHTI

37d3 ¢ HSU'S € Mgae 19 € M&HTY,
IHE W3 9B & wrad (freedom of

expression) @

R RIS RERVES L UE]

speech and

3T AT AT J1
(A)
(B)

JTHcd 2 <udd fJ3

g <t Jftm

(C) iR IG-FIET®

(D) dJIE™ & GRwET

3d3 & HISU'® ¥ MEHATY, A3 HUS!
I3 II SAfdd T ____ JI
NBECERES

(B) »gid HaUl qd3<

(C) HBIqI3<

(D) NS »iftag

14|32 /BB



Q31 Asia’s largest tribal festival, the Q31 T T A3 3 37 niifeel {36719,
NUIH AgJEA oA 393t IS
AT HETTET HiT 97

Q32

Q33

Medharam Jathara is celebrated by

which Indian tribe?

(A)
(B)
(€)
(D)

In which of the following cities was Q32

Kurumba tribes
Koyatribe

Adiyan tribe

Halakki VVokkaliga tribe

Google Map’s Street View services

launched in India in July 2022?

(A)
(B)
(©)
(D)

With respect to the Indian army, Q33

Ahmednagar
Nagpur
Chandigarh
Kochi

what is ‘Nipun’?

(A)

(B)

(©)
(D)

State-of-the-art high mobility
infantry protected vehicles
New generation anti-
personnel mine

Assault boats

Hand held thermal imager

(A)
(B)
(€)
(D)

o
nifews ST

TS SITBIIN JHtS!

~ (al fal (al

Jot &3 Afgat fed fan Afgg feg

o 2022 fe9 3793 feg IS HuA
Hte e Aerei § wd o3 famr Hi?

(A)
(B)
(©)
(D)

g3t 2d = A8y &g foya' dt 2

(A)

(B)

(€)

(D)

W3MOfed G IS
VS JagT @18 TJ6

&< Uit feddt faet us
WA {3

J9 St gaHs fendag

15|32 /BB



Q34 Bombay House located in Mumbai is Q34

Q35

Q36

the headquarters of which of the

following companies?

(A) Tata Group

(B) Reliance Industries

(C) State Bank of India

(D) Godrej

Under which of the following

policies is India focusing to become

a globally competitive

manufacturing hub?

(A) Stand Up India

(B) Make in India

(C) Swabhiman

(D) Pradhan  Mantri  Mudra
Yojana

The term ‘second generation

reforms’ is often heard in India in the

context of:

(A) Agriculture reorganization

(B) Economic restructuring

(C)  Skill development

(D) GST implementation

Q35

Q36

Haet i g" I8H (Bombay House)
J&t flfnfi i faA duat e iy €834
&

(A)
(B)
(©)
(D)

HIZ H nifg feghor
GISGE

9193 I fefsnit &9 faadt &It =
3fg3 fere Yug 3 Yt fagHe
dvd 9a& §3 fs defg3 94 faar
J?
(A)
(B)
(©)
(D)

A3 Wiy fEgr

Ha o gt
ASTIHTS

YUTE H3dt Hedr uHaT

333 feg gt Wi © AU Hew
fare Hegs i< sfom A &

(A) U3EE YSd 66

(B) MIfEd Yad f&aHE

(C) dIadfeam

(D) FARIAWHS

16 [32/BB



Q37

Q38

In which year did the Central Q37 foqH A feg dedl Agad & Qusaz

Government notify the Consumer
Protection (Jurisdiction of District
Commissions, State Commissions
and National Commission) Rules
under the Consumer Protection Act,
20197

(A) 2019

(B) 2020

(C) 2021

(D) 2022

A buried, watertight tank designated Q38

and constructed to receive and
partially treat raw domestic sanitary

wastewater is called

(A) rotten tank

(B) septic tank

(C) putrefying tank

(D) decaying tank

HIf Wale, 2019 © wtts QU
At (8T IfHHG, I IHHG
3 JHECd IHIEST T wfTaTg ¥39)
fawHi § wifggfe3 i3t

(A) 2019
(B) 2020
(C) 2021

(D) 2022

g W f5dd1 9ie Ut § yu3 9da
W3 nifrd gy g BUTd 9da <3
s S8 T8 AT B f3afes »13
feaf3 i3 7% It a § off fqar Ater
&

(A) J& I (rotten tank)

(B) AuUfex I (septic tank)

(C) fuGcdiefdar 29 (putrefying

tank)

(D) f3afEd1 2 (decaying tank)

1732 /BB



Q39

Q40

Which content creator
India's  first United Nations
Development Program (UNDP)

youth climate champion, in January
20227
(A) Prajakta Koli
(B) Bhuvan Bam
©

(D)

Kusha Kapila

Ashish Chanchlani

What is the name of the rocket
launched in October 2021, by Korea
Space Launch Vehicle II, its first
domestically  developed  space
rocket?

(A)  Nuri
(B)
©

(D)

Jugnu
Pratham

Mir

Q40

became Q39 HA&ed 2022 349, fagx AHI

[EIHIT 9193 T UfT&T AYA3 IHIT
feq™ Ydid™i (UNDP) U8 J&TEtHe
i gfenm

(A)  UIHI3T A&
(B) Z<ad™
(C) IS

(D) MTHIH 99&TAl

Wa3Ed 2021 <9 ufa® Aert 39 3
feqr3, ddhm AUA BY S I
AT Big I3, AUA I &1 & ot
&2

(A)

(B) ddlg

(©)

(D)

18 32/BB



Q41

Q42

In May 2022, India's boxer Nikhat Q41 Hgt 2022 &g, 393 <t Haud fau3

Zareen created history by winning a
gold medal in which category at the
IBA  Women's World Boxing
Championships?

(A) 46 kg flyweight category

(B) 52 kg flyweight category

(C) 42 kg flyweight category

(D) 55 kg flyweight category

How many gold medals did India Q42

win in the Archery Asia Cup 2022
Stage 2 campaign held in
Sulaymaniyah, Irag, in May 2022?
(A) Six

(B) Eight

(C) Seven

(D) Four

Adle & IBA Hig® feme Hagdt
Tubaliry feg fan 7St <9 °a 3Har

f3 3 fef3am gfgnm

(A) 46 kg SBTEIRC T
(B) 52 kg S&relee Hat
(C) 42 kg S&TElee Hat

(D) 55 kg BT T

Het 2022 feq, fogd © ASHEMT
fSg w3 Saniert extei U 2022

UIn 2 HiGH fR9 3793 & fdld R 3aM

19|32/BB



Q43 On 13 April, 1919, which of the Q43 3I93feT13»UW, 1919 %, I&! fifzmi
following incidents took place in & faadt wea I

India? :
(A) I A
(A) Kakori Conspiracy

(B) Jallianwala Bagh Massacre (B)  HISMISTETEGT T3EMH
(C) Chauri-Chaura Incident (C) TIAITues
(D) Komagata Maru Incident (D)  JTHTIICT HTd W&

Q44 Which Indian monument is Q44 fqJF IIF AHHR € WMdd Ft THE

popularly known as ‘The Arc de »ig T o e (The Arc de Triomphe of
Triomphe of the East’? the East)’ & &1 = LJfF\lIU 3

(A) Charminar (A) TIHET

(B) Mysore Palace (B) HHdUBA

(C) Khajuraho (C) Yrdd

(D) Golconda Fort (D) JBII TS

Q45 The Malayalam language is largely Q45 Hf&»&H I @3 39 3 J&t fef3it

spoken in which of the following &g a3 3793t ga g 9= 7t O

Indian states?

(A) JIS
(A) Kerala
(B) Tamil Nadu (B) 3HBEF
(€)  Kamataka (©) wdaed
(D) Goa ©) o
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Q46 Supreme Court judgment in Ellora Q46 ¥3g Yud fifgd f8Hfes gam™ windt

Paper Mills Ltd. vs. State of MP

(2022) 3 SCC 1 deals with:

(A)

(B)

(©)

(D)

award of excess claims under
the Arbitration and
Conciliation Act, 1986

remission of matter to
arbitrator under the
Arbitration and Conciliation
Act, 1986

appointment of arbitrator
under the Arbitration and
Conciliation Act, 1986

earlier arbitral tribunal having
lost its mandate cannot be
permitted to continue under

the Arbitration and

Conciliation Act, 1986

I (2022) fE9 AU dde T AT 3

scc 1 fer &8 AeU3 9

(A)

(B)

(®

(D)

WS, 1986 © WUs <Y Tifent

[SIRGSIES

HOTHEST W3 B8J wifufemH

1986 ¥ 3J3 HUIHES § HHS

< Tt

HOTHEST W3 B8 wifufsuH

1986 ¥ 3J3 HUAHES i

IRYEE]

YJZT HUTHES aaudds &

WMIYST JIH JIe3T Hi, 8RS

HOTHEST W3 B8J »ifufem
1986 ¥ 3fg3 #dl JuT
feA™3 &l fd 3t 71 Adel 3
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Q47

Q48

In March 2022, the Reserve Bank of Q47 H™dg 2022 fg 393t fddde 399 &

India along with the National
Payment Corporation of India
launched a 24-hour information
hotline for digital payment of goods
and services. What is the name of
this service?

(A) DigiCASHe

(B) DigiKwik

(C) DigiSaathi

(D) DigiMitra

In  April 2022, which country Q48

launched the Trade and Technology
Council with European Commission

(EU) in 2022 after USA?
(A) India

(B) China

(C) Australia

(D) New Zealand

JHSS UHe Iglans »ie fishr =
&8 HE d <Al w3 Aee ©
3rilcs a6 B ffa 24U

HIEddl Je&TElG AT |y ol fen
AT EH ot 7

(A) f3HiaH (DigiCASHe)

(B) f3rilafed (Digikwik)

(C) Tf3+itATdt (DigiSaathi)

(D) f3+ifH339 (DigiMitra)

WU 2022 T, fTA TR B US S amie
2022 39 ydfuws afHms (EU) ©
&18 U »3 3datel Y € ggiT3
CIEIl

(A) 93

(B) di&s

(C) MHGEMT

(D) faGHiEs
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Q49

Q50

In April 2022, the Government of
Gujarat in collaboration with the
Ministry of Culture organised a five-
day cultural fair named Madhavpur
Mela to celebrate the sacred union of

which deities?

(A) Krishna and Rukmini

(B) Shiva and Parvati

(C) Vishnu and Lakshmi

(D) Brahma and Saraswati

Which organisation signed a
tripartite MoU with SBI and
National Culture Fund for the

Development of Atmanirbhar Bharat
Centre for Design at Red Fort, Delhi,
in February 20227

(A) Indira Gandhi National Centre
for the Arts
(B) Indian National Trust for Art

and Cultural Heritage

India Foundation for the Arts

(©)

Centre for Cultural Resources

(D)

and Training

Q49

Q50

»US 2022 feQ, IHIS AIEd B
Hignmada H3d® & AfdWdl &5
NS {3 T2 2 yfe3d s
& HET8T B w3 i3

(A) {JHE M3 gaHS

(B) THEe M3 urgest

(C) ferd »3 TamHt

(D) YIH M3 AIA<S!

fagdt Arar & gd<dt 2022 <9 8%
fas, feat feg »aHfagsa 9193 Hed
2d fsardls © feam @t sBI »i3
AHGS J%49d 83 © &8 oo 35Ut
TS 3T 13T H?

(A) fegr ittt IHed! 9% ded
(Indira Gandhi National Centre
for the Arts)

W3 IBYIS Jdied (Indian

(B)

National Trust for Art and
Cultural Heritage)

fEg I E3HE 9 T MdeH
(India Foundation for the Arts)

(©)

Acd 2d I8%9d% fdAgAA »3
2691 (Centre for Cultural

Resources and Training)

(D)
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Q51  What is the value of

Q52

Q53

QUANTITATIVE APTITUDE & NUMERICAL SKILLS

3.75 — % —0.05?

(A) 2
(B)
(©)
(D)

o B~ W

Which of the following sets of Q52

fractions are in descending order?

(A)
® 1
(€)
(D)

The remainder when 2°* is divided Q53

by 255 is:
(A) 2
(B) 0
(C) -1

(D) 1

> — 045+ Q51

Z—o.45+3.75—§—0.05 THB

Eiloy
(A) 2
(B) 3
€ 4

(D) 5

T 264 4 255 1% I fegT AT J, 3t
ol off niredm?

A) 2

(B) 0

© -1

D) 1
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Q54 The cost of 5 pens and 2 pencils is Q54

Q55

Q56

Q57

%29 and the cost of 7 pens and 5
pencils is 45. Find the cost of 1 pen
and 2 pencils.
(A) X9

(B) 7

(C) 11

(D) 13
Simplify  the
BODMAS rule.

following using Q55

1
26 + 11— 5 x§0f12—{36

~ (14 + 4)}
(A) 5
|B) 7
(© 13
(D) 15
What is the value of 90+ 55+ Q56
1.1 x4 —21?
(A) 296
(B) 269
(C) 216
(D) 221
What is the value of the following Q57
expression?
1

4 5 4 1 3
(=+=)of =+2- x1- —
3 9 17 3 4 4

A =
B 5
© =

D)

5 Uat ni3 2 UafAst T 1S 229 I w3
7 Uat »i3 5 Uafist T 1S 245 J1 1
U5 013 2 UafAst T i y3T13d|
(A) 29

(B) 37

(C) 211

(D) 213

BODMAS fouH <t =33 gafon J&
fd3 § % IJ|

1
26 + 11— 5 Xzof12—{36 +~ (14

+ 4)})
(A) 5
B) 7
(C) 13
(D) 15
90 + 55+ 1.1 x 4 — 21 THB 9

(A)
(B)

296

269
(C) 216
(D) 221
Jat i3 fonfrg g fdar a2
(f+§)ofi+21 x13 _1
3 9 1773 " T4 4

A =

®) —
© -

D)
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Q58 The mean of 12 observations is 18. If Q58

Q59

Q60

one more observation is included,
the new mean becomes 20. Find out
the 13th observation.

(A) 40

(B) 42

(C) 44

(D) 46

A brick is an example of a
(A) Cuboid

(B) Cube

(C) Cone

(D) Rectangle

If the radius of a circle is 7 cm, what Q60

will be the ratio of its area and its
circumference?

(A) 11:7

B) 7:2

(C) 3:2

(D) 7:3

12 QH T HOHTS 18 J1 Agd ¥ 39
Y & TS izt 7T 3, 3 aat
HOH® 20 I AT J1 13 QuE T YT
EEl

(A) 40

(B) 42

(C) 44

(D) 46

fegfeeffq < Guagsdl
(A) U=

(B) WE

(C) #d
(D) »ife3

Hdd 9ad T du femm™ 7 cm J, fore
Y3d9e8 3 fere ufgHy T »igu3
fefe1d?

(A) 11:7

B) 7:2

© 3:2

(D) 7:3
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Q61

Q62

Q63

The smallest perfect square which is Q61
divisible by each of 12, 18, 20 is

(A) 1600

(B) 900

(C) 400

(D) 1000

Find the value of the question mark. Q62
25% of ? =4 x 16.5% of 1200

(A) 2828

(B) 2908

(C) 3168

(D) 3298

Which of the following numbers is Q63
not divisible by 4?

(A) 225644

(B) 48264

(C) 188822

(D) 144692

78 3 8T Yds <9d1 faaF 3, fang 12,

18, 20 &T& J1d] 0&5' HI HAdT ?Il
(A) 1600

(B) 900

(C) 400

(D) 1000

yrs fdg T is u31 94|

25% of ? = 4 x 16.5% of 1200
(A) 2828

(B) 2908

(C) 3168

(D) 3298

Jat fdnit Himrret f&9 faadt 4 &5
YJ& 39 3 AU Gt O

(A) 225644

(B) 48264

(C) 188822

(D) 144692
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Q64 Two numbers are in the ratio 37:40. Q64 = H¥»l 37:40 T MaU3 f*9 I&|

Q65

Q66

If 7 is subtracted from each of them,
the new ratio becomes 67:73. Find
the smaller number.

(A) 74
(B) 60
) 71

(D) 44

How much time will it take for a sum
of %450 to yield %27 as interest at
1.5% per annum of simple interest?

(A)
(B)
(©)
(D)

ICICI offers 10% compound interest

4 years
2 years
5 years

3 years

per annum compounded half-yearly.
Mr Kumar deposited 33650 on 7%
February 2020 and another 33650 on
7" August 2020. Calculate the
interest he earned till 7" February
2021. Choose the option that is
closest to the exact answer.

(A)
(B)
(©)
(D)

439
556
458
549

Q65

Q66

Hdd 8§t fed 9da f<d 7 wear fearwier
J, 3t A<t »igUT3 67:73 I AT I Bl
HitpT U31 S|

(A) 74

(B) 60

Cc 7

(D) 44

3450 €t 9IH & 1.5% HBTET HUGS
o 3 fenmed 227 yu3 9dsf<a
foleT FHT B didm?

(A) 4TS

(B) 27

(C) 57

(D) 37 S

ICICI, ferrdt 33 3 JITaT 9
§3,10% fHHI3 for™ & AETaT T
< Uan &t I | T g & 7 gaedt
2020 & %3650 ™ Fd<E M3 7
WJTH3 2020 § 3650 JId i JI<T2|
7 @d<dt 2021 39 BH ©AGT IHTE
foma <l IreaT ad| Br feagu i de
I A G3ITAS 3 B33 JI

(A) 439

(B) 556

(C) 458

(D) 549
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Q67 Find the least square number which Q67 €g &<t 3 &<t =da1 Afth U3 9, 1

Q68

Q69

IS exactly divisible by 4, 9 and 15.
(A) 625

(B) 729

(C) 900

(D) 1089

A certain amount is distributed Q68

among X, Y and Z. X gets % and Y

gets % of the whole amount. If Z gets

%15, then Y gets:
(A) 320

(B) 75

(C) 3340

(D) 360

A rectangular parking area of 64 m? Q69

is adjacent to a house. The three sides
of this area are fenced and the fourth
side is common with the house. If the
length of the fenced sides is 24 m in
total, then the dimensions of the
parking area are:

(A) 4mx16m

(B) 2mx32m

(C©) 1mx62m

(D) 4mx15m

4,973 15 © &8 Ydt 3 SamdI J|
(A) 625

(B) 729

(©) 900

(D) 1089

ffq foafg3 gt § X, Y M3 2 ©
fegarg A AT I X G ydt It =
> fdmfiger Im3 Y § ydt gt e -
fom s 1 Agd 2 § 215 R I8,
3Yg  HEE IS

(A) 2320

(B) 375

(C) 2340

(D) 2360

64 m? 43de® <& d mife3dg
yrgfelar 934, ff ug &% I J|
fore 38 R <3 o3t ardt I w3 e
UTH WG &1 AT J| Had I 131 aret
% BTl 24 m J 3t Udfelar 939 <
e ot 2

(A) 4mx16m

(B) 2mx32m

(©) 1mx62m

(D) 4mx15m
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Q70 Aand B can do a piece of work in9 Q70 A 3 B 8 o1 § Hed 9 feat »13

Q71

Q72

days and 12 days respectively. They
work together for 3 days and then A
leaves. In how many days after that

will B complete the work alone?
(A)
(B)
©

(D)
A boy was riding a bicycle at the

7 days
3 days
4 days
5 days

speed of 20 kmph. How much time

would he have taken to cover 10 km?
(A)
(B)
©
(D)

The average of the monthly rainfalls

30 mins
35 mins
40 mins

45 mins

for January, February, March and
April was 22 cm and for February,
March, April and May it was 24 cm.
If the monthly rainfall in May was 20
cm, find the monthly rainfall in

January.

(A) 16cm
(B) 18cm
(C) 1l4cm
(D) 12cm

Q71

Q72

12 fest {<9 99 Aae Ja1 B9 3 fes
fed(d ofH ade I& M3 fed A &3 HieT
J1 B B 3 amfe fda feat feg feda
H & YdT Iddr?

(A) 7fe8

(B) 3fg&

(C) 4fe®

(D) 5fE&

f8q Ha1 20 kmph & & 3 AESS
TS fgar /1 87 Q 10 km M II& <9
folaT AT Sfamm J<dm

(A) 30fHe

(B) 35fHe

(C) 40fHe

(D) 45fHe

Aaedl, Sdedl, Hdd »3 MT ©
Hdtererg Hig & »iA3 22 cm
gdedl, H'gg, »Us w3 Hel st feg
24 cm HI| Hdd Hel e Hdlarerg Hig
20 cm Hl, 31 A&<d! feg Hdlarerg g

YT 4|

(A) 16cm
(B) 18cm
(C) 14cm
(D) 12cm
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Q73  Rohan wants to store 120000 litresof Q73 JJ& 120000 Bled 3 & AIJ I

Q74

oil. So he bought a conical oil tank of
a diameter of 7 m and a height of 9
m to store oil. Find how many litres

of oil will be left after filling the
whole tank? [Use n = %]

(A)
(B)
(®)
(D)

4800 litres
4500 litres
4000 litres
3500 litres

Roy is attempting a question paper
where he gets 3 marks for every
correct answer and 1 mark is
deducted for every wrong answer.
After attempting 60 questions, Roy
sees that his total marks is 100. Find
the number of questions he answered
incorrectly.

(A) 25

(B) 15

C 20

(D) 30

Q74

g J| feA B §I38 A ACI A9
e 7 m fordm %2 9 m <t Gardt @
HIgy 3% I ydieer J1 Yd 39 §
936 ¢ gmie fd8 e 3% d9
A [n == T <33 ]

4800 Btd

4500 Htd

4000 Bt

3500 Htd

(A)
(B)
(€)
(D)

J¢ g yHs-U3d © €39 T & Jfin
3d fgar 3, ffa €7 § 9« wdt €33
Tet 3 ¥id fHBY I8 M3 I3 183
€33 Bt 1 vig SAfenm ATTI | 60 YIat
T €39 ©< © afTn 99 3 gmie, 98
T J fq §AR I8 »id 100 I51 §I&1
yrst S A Uz 99, g T BA D

%3 G339 feam

(A) 25
(B) 15
(C) 20
(D) 30
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Q75

Q76

Q77

The price of petrol first rose by 12% Q75
and then fell by 12%. Find the net
change in the price of petrol.

(A) Remains same

(B) 1.44% decrease

(C) 1.2% increase

(D) 14% decrease

A shopkeeper purchased 100 shirtsat Q76
the rate of 320 per piece. 20 shirts

were found defective. In order to
make a gain of 20%, he must sell the
remaining shirts at the rate of

per shirt.

(A) 325

(B) 327

(C) 330

(D) %35

Ifa:b=3:4andb :c=8:9, find Q77
a:b:c.

(A) 6:8:9

B) 1:3:7

(C) 3:8:16

(D) 3:5:7

Ueds <t i3 Ufgsst 129 <t w3 feg
1206 We et Ued® Tt aiH3 fg 94
Et:ir S RVEUCHT

(A) Bdiafddtad

(B) 1.44% &t o0t

(C) 12% =<

(D) 14% <t ot

f8d Ta6Ed & 100 FHIH 2 20 Y3t
IHiH < Tg §3 ydieiil 20 it
I Yo Iretni| 20% TT B Y3
JI5BE QT yItandmdiwd
3 g1l HiteT ST

(A) 325

(B) 27

(C) %30

(D) %35

Hoda:b=3:4"3b:c=8:93,3
a:b:cy3TId|
(A) 6:8:9
B) 1:3:7
(C) 3:8:16
(D) 3:5:7
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Q78 Which of the following fractions is Q78 J& &It fIat fed Ag 3 &t 9

the smallest? Frerat 3
" 3 (A
B) B =
© 3 © °
0 3 (o) 2

17

Q79 Find the lowest common multiple Q79 34, 45, %3 50 €AY 3 &< AIYT JIcH

(L.C.M) of 34, 45, and 50. (L.C.M) UST 3|
(A) 7650 (A) 7650
(B) 7850 (B) 7850
(C) 8400 (C) 8400
(D) 7200 (D) 7200

Q80 The least number which should be Q80 2014 @9 faadt Az 3 &<t Hitht 1t

added to 2014 so that the sum is A3 HH33,4, 5036 &S Ydt 39t
exactly divisible by 3, 4, 5 and 6 is: I I HI-

(A) 33 (A) 33

(B) 27 (B) 27

(C) 26 (C) 26

(D) 31 (D) 31
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Q81

Q82

PUNJABI LANGUAGE

‘Homosexual® FEe T ydrdt wige= Q81

JI

(A) =S
(B) HAH&IHI
(C) FHETR

(D) Tz f&qi

“The police brought the dead body of Q82

slain leader.’ @9 21 YAt »igee J|

(A) UGAB AT ISIZ I THE
f&nfiar|

(B) UGHAI3IZILAIEBTHE
f&nfiar|

(C) UBA & I35 &3 &t &1 §
f&nfiar|

(D) UfSH S 938 Jdd 337 €t IH
& Tt

‘Homosexual’ Fge T Ydrdt wigew

JI

(A) =S
(B) HAH&JHIT
(C) wHf&Tf

(D) B fEqi

‘The police brought the dead body of

slain leader.” </ @1 YAt wWigee I

(A) UGABEAIT T IE3B IHIHE
&t

(B) UGHAISIBILAI A BHE
fnfia|

(C) UfBH & 9138 331 &t BH §
fnfia|

(D) YfSH & 93% 9dd 337 & BTH
& Tt
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Q83

Q84

‘The people of India are poor in Q83

general’ T 21 YAt »igae J|

(A) 333 T B frpurer 91t I& |
(B) 3Id3 ¥ B »H dJd Jidtg
I

(C) 3993 © B »H Jdd dJidt™

Jal

(D) I3 T I WMH IJd IIAg I
‘Position of the people in the rural

sides of India is very pitiable’ =7 €7

YA wige J|

(A) 393 ¥ feg3t i feg
B € TSI 993 IIAWI I

(B) 333t st feg ot &t I®3
g3 IIAWTT J|

(C) 333 < fearsl festani €
fed I7%3 ¥g3 SIAWdI JI

(D) 993 ¥ ¥d 438 HEa foy

St & B3 IIAUT I

Q84

‘The people of India are poor in

general’ T 1 YAt »igae J|

(A) 333 T B fprer It I& |

(B) 393 T & MH &Jd dJIdtg
Ja|

(C) 393 © B WH ddd dJidi™
J5|

(D) I3 T B »H IJd JIatg I

‘Position of the people in the rural
sides of India is very pitiable’ <79 T

YAt wigee J1

(A) 393 ¥ feast fesiani feg
BT € TSI 993 IIAWT I

(B) 3331 izt feg Bt & T83
g3 IIAWT J|

(C) I3 % fearst femfani € 31
fed IT%3 §J3 3IAUII J|

(D) 993 ¥ ¥Jd 338 HEE foy

39t T JTB3 IIAUTT J|
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Q85 gIgHl feg ITH-IGH YT Jar g Q85 gt feg IrgH-IIgH YT 9aI Bt

J1 2 fed fegdt wee g&: J1 29 fed fegdt wee g&:
(A) I (A) draH

(B) U3¥= (B) U3¥=

(C) H< (C) H=eT

(D) WIE (D) WI«

Q86 THUfGT T HHGIES Gl J - Q86 THUfGT T HHGIES Gl J -

(A)  Femrrgt (A) farrgd
(B) Isfu3 (B) B3
(C) Jeftat (C) Jeftat
(D) fepmmit (D) fomirt

Q87 ‘Phonate’ AR @1 UATEI migeedl Q87  ‘Phonate’ HEE o YA wige J|

(A) < (A) e
(B) I&IIH (B) 2&FIA!
(C) TalGurgE (C) TalGurgE
(D) 25 ddd (D) <35I
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Q88

Q89

G2 fUs 33= Higw’ e nyrs &t Q88

ESECCREIGE

(A)

(B)

(€)

(D)

HA q&T AIrQI Haregr =dfznm Q89

i foan g2 € ¥& ¥ ydet Jd
3T e 3 GA I g &7

fa31ae, G afde a1

frafoRn T ddJ<, B os G

A 3913 &l 83&T TrdteT|
Bc 3l 38 U o ygdl A
93d 98 feas U, G afde

5|
T8 HargwsT -3 et <tbeT T
IR, BB W I & yTrs 3T
fHss At J|

qHeJ:

(A)
(B)
(©)
(D)

Hd gd IS od U3 JI&T
Y3 IS

s fee@a

fERA3 I A A

ERERCCR KR

(A)

(B)

(€)

(D)

A faRde e gs T ydedd 3
Afgnt 718 3 B8R 3 BE &7

fa31ae, G Ifde Io|

frafoR T ad d<, B o s G

Ad]' 913 &t 8367 FrdteT|
Bc S &8 U o ygel #f
93d 98T feas U, §< afde

5|
ffd HamamT -3 et o T
a1 IR, B8 Wbt 7o § yures 3T
fHes At J1

HIt IS AT HI=IT SJfInf

HeJ:

(A)
(B)
(€
(D)

Hd T 7913 33 ¥ II&
Y3 IS

fopores feerga
ferfd3 I A A
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Q90 NIZIGATHTIAAIfIEITIIRI Q90 W E IgrA< HE J A faez T2 Il
T T I -

Qo1

Q92

T D fIAH I :
(A) HAYI3 T
(B) fHAfI3 <=

(C) WIS T

(D) JSBEITE

QI ST A I w3 FeHH 1 TI &t Q91
EGEGE

(A) OIS T

(B) fHEfg3 <=

(C) HYI3 T

(D) JSBEITE

b ICIC RS S PG Q92
(A) & I S Byt €9

(B) ®IFIE Sl {Budte 9

(C) &Iyt g9

(D) &g | Syt g

(A)
(B)
(€)
(D)

RYd3 T
fHrfas @

HIOTdo <1

3% 9

€7 &1 & I W3 g I’ o <
fﬁﬂﬂé:

(A)
(B)
(®
(D)

HIOTdo <1
fHrlg3 </ a

RYI3 T

3% 9 d

(A)
(B)
(€)
(D)

&1 g3t o fgudt €
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Passage (Q96 — Q100) HUITB1& 3793 fed TfB3 df AfF3t 3 HafHa3T § Ho<<! fegrdurd
W3 daH U3t T34 Y33 fearat & wisH-die3T w3 Aidal IS T midiH &8 33 fiar
HH wifrdt AfeSt feg At g ofs Al < 97t 98ts 2991 © fegrgurgrd ydui wr Y3839
U 995 BE FiFtardt Guen ® gu feg ArgnHd miget J w3 v8-998, alk-f63@ Bai §
WISH-ASHTS &1% faBe T g fmaEet I 1 vuarst 934 fett © wiggy ot © fogt Quest
T AJI'd Zult 31 M-St w3 Tf%3 T9dT a78% 193 92 I5 | for 3qf grauret T mfar uts
YU IHPTIE-93&T € ¢dHc 9 o §33w1 J| fen 3 fewe fig g9 a2 oHe m3 Ame ©
fy@Te Huwan 99& © YdaT < AarSer J1 fod HEY HI3g & gfeon<t 89437 w3 AHa3T &
M IS8 38TH I J 8l 3816 »i3 ©f$3, rdte w3 »il, fersdtnz yar e fezaa

fie AfeT 3| WA fegrgurar wigrd fer 2 feg ©f%3 7 gea & WH3d U3s BT T aE

JS & HH

Q96 qragl feg IvaiE B Tt ot Q96 JIgTTE fed IHMAE Bt BEt ot

T St Tt 92 T St aret 92

(A) MY FIH T B YR < (A) MY FIH 1B UiRE
(B8) JffHEt Hies frge €t B8) dJffrEt Hies frge €t

(C) U&-YaT Id& it (C) U&E-YaT Jd& it

(D) MBH-HAHS &1 fHET (D) MBH-HAHS &1 fHET &t
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